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for the questions.

Answer question No. 1 & 2 and any five from the rest.

1. Choose the correct alternative : 1x10=10

(a) Which of the following collections can be
defined as a set ? :

(i) All long rivers in the world -
(ii) All books which ére fun to read
(iii) All odd numbers <100

(iv) None! of these.




(b) If the r
ax® + by j_OCtS: (()) farthe quadratic equati 1 '
@ B2en L ¢ equal then — o (e) ''In an LQP e oo,
c= (i) Only the objective function 18 linear
(ii) Only the constraints are linear
ective function as well as the

(iii) The obj
constraints are 1
ove.

(ii 2
) b dac > 0
inear

(l'l'l) b2“4ac<0
- (iv) Any of the -

& (1)
(iv) None of the ab
1f TC, MC, Mﬂg,n_d x represent the total
' nal cost, averase cost and

fe) “ Ift
WO rows
are identic al((g] 6001umns) of a determi

(l) 0 . cqs,‘;t,' (' :i’; -
(i) 1 output respeetively, ther which of the
(iti) : : following are true :

i) 2 : ' i

o . Luo)= MC
o e=4acC

() Can’t say,
1. [MCde=TC

@ 1 g
f 10g3 27+log3x=4' b
» then x is
it and I

(i) 1

(ii) 2

(iii) 3 .

) 4 % i) 1 and 111
(iii) 1 and III
(iv) L 11 and III.
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R i) B& C e null sets
;'; (i) D & E are equal sets
(iv) Fisa proper subset of G.

the optimum solution of an LPP
we can use —

(g) If § h
:8x b =2xX+9 ; ._“3
is tr +3, then which Andes

@) f(x)=g(x) at x=3

(i) f(x)
=h(x) at '
(ll X=d
(' l) g(x) = h(x) at x = D) (]) For
7v) None of these involving three yariables,
(%) Which of the f, (i) Graphical method
e followj o !
Owing equations has sym ) (ii) Simplex method
d . (iii) Bither (i) and (ii) ?_' ;
(iv) None.

of the roots =13/
6 and product of the
‘2><5=10

roots =1
(any five)

2. Answer the following :
) Define odd function and even function

NOET
' ‘5"»"+3u0 ,
; " vy
(a
with examples.

log, log; gl=1

* (i) _ , ,
6x2b_.13x_ 6=0

=0.

expansion of

(iii 2 |
) 12x —26x 19 = 0
(b) - Prove that log,

d the middle term in the-

(Bt 13
A +Fx'+l=0
(¢) Fin
10
a.x
(x+a) 1

() Conside
Aqn{s;der the following set |
s b S :
£[o, 1,}}_18 }fﬁ};JC=‘{ o-giay
,- | G ‘ ‘ { i »
the following is true [73’ i i

(d) Prove that

()
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g = 2
(¢) IF the total profit function is gi lim =23 35" +8x 1
L=0Q*+130+78 ; where Q is the o P2 R i
, B L o
find average profit when Q=3. (i) ;f-l—';’:o n
; f L e 2
- (/) = The second term of a GP series is 9 a A= x
the fifth term is 243; find the comm (iv) chi_’?o’——T—— A .
ratio. ' . R prod,uCt 1S
| cost function 82 ‘
(8) Solve 243 px+l _ 350 (b) The
: | given by — 0-x whed x <500
2000 —x

C(X) Xi= 500
—~1000 Vil

3. (@) Ifa”"=b"=c¢"and b%=ac then show that _13000-2x when X

= e 3 - 500
. 2 f Is C(x) continuous of x=5
(b) Find the quadratic equation with 2 — \/— 4
as one of its root. _ 3 i 4l }/ (any three)
. 4 (@ Find derivativ dw £ 2%x3=6
(©) If a*+b® =7ab then show that
2[0g(fz+b)=loga+logb+210g3 3 . y=logx(3x2 ,4x+1)
(d) If one root of x* =px+q=0 is twice the g T 2/
other, show that 2p? = 9. 3 () - x=2 . X2 (%
‘ 5
1
=|{x+ X)
4. (a) BEvaluate : 2x4=8 (11) y (
« ay s
' B b Y= +1
y lim = X 5x+6 (lV X !
LW 6 ¥ 4l 3 Contd.
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output and x is the number of units of
output. If the tota] fevenue is 7p - .
determine the most profitable output and
the maximum profit. 64

Or
The average cost function 4C for
producing x unijt of a@ commodity jg

AC = % 12+ 20, Find the level of output

at which the toa] Cost (7C) is minimum.
Also find the minimum total. cost, 6

What do you mean by LPP ? What are the
basic assumptions of LPPp 9 2+4=6

B (2

(b) Solve the Lpp by graphical method
Maximise z- 10x; +15x,

subject to 2x, +x, < 26

2x1 +4XZ Ssg\
x] -—x2 2—5
(x, %)20 6

K | )

A
i
L4
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1
24

- (a
|

ann S

in the

dent of x 1

i i dependen
) Fin d the term m y 3
\ MG i
expansion (336, 3 x)
oty dvifRe

3

fnine the coefficient
r o

PO
al expansion of (2 |
. 0

mi \1:}theorem, find the V.alue
by places of decimal.

(b) Dete
’ b'momf1

U ;
. (1-02)° correct 10 . "
! ; b b
(d); 'Byde, 1" +nCp=n- 2
Q20 £330 T
A%X3=
‘ ee
o Answer any thr 5 3
trnx
verse of ‘the e 3 7

" (a) Findthein

g (@) Showthsl
1 b é
: ;) ¢ |=(a-D)B-0)e=D
a ,

bc ca ab

Contd.




D . Adwr. T

(©) - Sol . | | o
e ay o peratiog 0 The sum of four terms in A.P. 18 40 and
~ {he sum of their squares is 480. Find the

b
y elementary TOW operation metly

x+2y‘22=1’ 3x+
v i numbers.
4 Find the sum of n terms of the series
4+44+444 +. . ninenr

(d) The table below giveg the price for g

of tWo compan;j .
panies A & B during the AP and x, y, Z are in G.P.
b, ‘¢ are WA BLARE & 2

of January anq g
gives the amoynt iexi)\fel:tz};i %)9918[ e (d) 1fa X,
Yy Mr. X rove that
tﬁese two monthg for the purch y e pb_c c-a" ol 4
Shares of the twg Companies 1 A |
Month |
Company and  Totg] - "
¥ (@ I ¢(x)=7771
4 X+

value per share investedﬁ #0) ;
; "y a-vi S

B
JA ‘ . =
N 10 5 125 then show that, T g(a). ¢(b) 1+4
FEB 9 1 , . a
150
g function

(b) Draw the graph of the followin .

f)=1|
students, 80 takes

In a hostel, out of 110

" ten, 50 takes coffee and 25 takgs ththt ;EZ
: s

and coffee. How many studen ;

neither tea nor coffee ?
g Venn diagram
3

—_—‘(AﬂB)U(AﬂC)

Find he numbe | |
T of shares of A I

gurchased during both the month and’
ramer’s ryle, £

9.  Answer any three -

(@) Mr, X Tepays a loan of Rg. 325 )b
IRs, 20. in the first »

- InCreases the payment “
month. How long diq je
loan 7 |

(d) . Verify by usin
AN(BUC)

0" Contd.
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11. (a) Integrate the following : (M

5% —6x>+7x—1
: dx
J Jx

@)

(ii) jx.e,xdx

dx
(iii) 5—77\/;—————:—5

3x+5  igs
w7

(b) If the marginal 1
Rs (7x+9) where x denotes e T
units sold, find the total revenue ﬁmc:tlon
- and the demand function.

(take p to be price per unit).




